SUBTRACTING UP TO 1 000 000 WITH CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

n 709023 — 610118 =

2 880792 — 620212 =

3 322979 — 305129 =

1908983 — 460157 =

5 396264 — 295247 =

6 567931 — 247451 =

N 844302 — 782317 =

9 210271 — 127064 =

9 831911 — 358537 =

100993388 — 275397 =

1) 442126 — 375544 =

12) 768511 — 380108 =

13 606918 — 330783 =

1) 933828 — 486302 =

15 546055 — 509471 =

Mathematics: Subtraction - Level 8 - Horizontal - Set 2
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977998 — 371717 =

889394 — 384408 =

529709 — 204865 =

811227 — 527169 =

613972 — 450463 =

514794 — 401522 =

451769 — 136490 =

347110 — 272324 =

749432 — 566069 =

372122 — 239361 =

597598 — 596475 =

208721 — 48191 =

616195 — 145066 =

581402 — 15986 =

284284 — H8384 =
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